
Class Exercise #5  
Calculations and Notes 
 

 Type MGS‐8 guardrail will be used 

 Type 2M guardrail approach terminals will be used 

 Lc = 32’ (1:6 slope at Sta. 168+79; 250’ (Lr) south of Sta. 171+29) 

 Assume L2 = 8.4’ (i.e., 10’‐1.6’); requires use of 9’ posts 

 

Approach End (South End) 

 There are two hazards that warrant shielding: 
o Steel Pole 

o Steep embankment 

 Must design guardrail to shield both hazards (i.e., design 

for the worst case scenario). 
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Length of Need (X) – South End:  Embankment 

X =   
ଷଶ	ି	଼.ସ

ቀ యమ
మఱబ

ቁ
ൌ 184.38′ (measured from 1:3 point; Sta. 171+29) 

 

BLONmin., embankment = (171+29) – 184.38   

                                        =  Sta. 169 + 44.62 
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Length of Need (X) – South End:  Pole 

X =   
ଵ଻.ହ	ି	଼.ସ

ቀభళ.ఱ
మఱబ

ቁ
ൌ 130′ (measured from Sta. 170+91) 

 

BLONmin., pole = (170+91) – 130   

                          =  Sta. 169 + 61 

 

BLONembankment is further south than BLONpole, so guardrail 

run will be based on BLONembankment.  

 

Departing End (North End) 

 Shoulder hinge point on east side of road is within 
southbound (SB) traffic’s clear zone 

o Use guardrail worksheet to calculate length of need 

 Guardrail ending on north end is within SB traffic’s clear 
zone 

o Must use a crashworthy guardrail terminal (i.e., Type 

2M guardrail approach terminal).  
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Length of Need (X) – North End (Using Guardrail Worksheet) 

X =   
ଷଶ	ି	ଶ଴.ସ

ቀ యమ
మఱబ

ቁ
ൌ 90.63′ (measured from 1:3 point; Sta. 178+84) 

 

Total Guardrail Length 

Min. Length = (178+84) ‐ (171+29) + 184.38 + 90.63 – 2(34.3)  

  = 961.41’ 

# of panels =  
ଽ଺ଵ.ସଵ

ଵଶ.ହ
 = 76.91   →   round up to 77 panels 

 Type MGS‐8 Guardrail Length = (12.5)(77) = 962.5 feet 

 
 
Reflectors 

# of reflectors = (
ଽ଺ଶ.ହ

ହ଴
) +1 = 20.25  → round up to 21 

*** But two‐way roads require reflectors facing both sides *** 

 # of reflectors = 21 x 2 = 42 reflectors 

 

Stations 

 The difference between the minimum guardrail length and 

the actual guardrail length = 962.5 – 961.41 ≈ 1.09’   

 The additional 1.09’ of guardrail will be placed on the 
south (approach) end. 



South (Approach) End 

Station where approach terminal meets Type MGS‐8 

guardrail on the south (approach) end is: 

 

  Station Bs = (171+29) – 184.38 ‐ 1.09 + 34.3 = 169+77.8 

Station As  →  N/A in this case  

 

North (Departing) End 

Station where approach terminal meets Type MGS‐8 

guardrail on the north (departing) end is: 

 

  Station Bn = (178+84) + 90.63 ‐ 34.3 ≈ 179+40.3 

Station An  →  N/A in this case  

 

Check:  Type MGS‐8 Guardrail Length = Sta. Bn – Sta. Bs  

                                     962.5 feet = (179+40.3) – (169+77.8) 

                                          962.5 feet = 962.5 feet   

Calculating  Z 

Z = 8.4’ (measured from EOP) 

 



179+40.3

N

169+77.8

8.4’

Type 2M Guardrail 
Approach Terminal

Type 2M Guardrail 
Approach Terminal

Type MGS-8 
Guardrail 

Quantities
962.5 Ft       Guardrail, Type MGS-8
2 Ea Guardrail Approach Terminal, Type 2M
42 Ea Guardrail Reflector




